	Fitting model
	Regression type
	Function
	R-squared
	P-value

	Linear
	Classical
	y=34.86x-6.95
	0.71
	0.009

	
	Robust
	y=34.86x-6.95
	0.70
	0.002

	Polynomial
	Classical
	y=-16.32x2+93.58x-51.82
	0.78
	0.02

	
	Robust
	y=-16.32x2+93.58x-51.82
	0.73
	0.03

	Logarithm
	Classical
	y=56.68ln(x)+27.64
	0.77
	0.004

	
	Robust
	y=56.68ln(x)+27.64
	0.64
	7.89e-05

	Power
	Classical
	y=18.94x1.67
	0.85
	0.001

	
	Robust
	y=18.94x1.67
	0.74
	0.002

	Exponential
	Classical
	y=7.461e0.98x
	0.71
	0.009

	
	Robust
	y=7.461e0.98x
	0.53
	0.008


